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1)
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(25—-0)—-7=6

O-+-55+105=161

5+64+0=13

303+0=918

316+(0O-13)=421
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2) 784+(29+M=14
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10)

O%x6=630

18—(O+2)=7

4x0O+6=18

(16+0) x8=200
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2) ZOORFRWKDTI N, (2R X10%E)

1)
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5)
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(O0—256)+38=109

Ox27=567

(O+18)—13=32

71+495+0=86

(527+0)—461=452
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8)

10)

(O0—238)+62=32

(613—0)+31=18

O+25=144

23x0O=184

(O+3)%x5=20
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3) ROOFLKDOTI,, (2R X 10%E)

1)
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7
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34-0=19

O0+21=68

Ox70+136=486

27—-6x0=15

2184+0+41=83

B
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2) (O+4)+6=3

4) (2+0O)%x73=365

8) 1325—(324+0O)=709

10) (O+1)x35=140
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4) ROOFNKITEH, (2R X10%E)

1) 1273+(0-21)=67 2) [0O-42=93

3) (14+0)+77=135 4) 41x0O=1558
5)  34x(11+00)=578 6) 136+0=17

7)  174+0+19=41 8) Ox3—71=193

9) (O+83)+231=507 10) 99+(O-12)=11
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5) ZOORFWKDOTI M, (2R X10%E)
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218—0O=107

39x(0O0+21)=1794

44+0=74

(23—00) x44=484

O+54=71
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4)

6)

8)

10)

81+(2+0)=9

(1239—-00)+125=812

213—(0—-24)=145

4+0+68=12

(O+71)+15=20
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1) ARE—m@E (2K X10%)

1) 12 2) 27
6) 9 7) 615

2) KiE—MRE (2R x10%#)

1) 327 2) 2222
6) 3600 7 33

3) Kig—EE (2R x108)

1) 15 2) 14
6) 88 7 2

4) KE—RE (2Rx10%#)

1) 40 2) 135
6) 8 7) 456

5) &E—ME (2R X108

1) 111 2) 7
6) 92 7 12

3) 3080
8) 3

3) 21
8) 8

3) 47
8) 292

3) 44
8) 88

3) 25
8) 544
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4)
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4)
9)

4)
9)

=
105 5)
118  10)
=
55 5)
386 10)
=
3 5)
52 10)
=
38 5)
193 10)
=
552 5)
17  10)
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